1. 24° —4a%b 4 2ab*E A5-Ef 5ol

2a3 — 4a%b + 2ab® = 2a(a® - 2ab + b?)
= 2a(a — b)?




@ (x-5y)(x-y) @ (x4 2y)(x—-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
@ (x+5)(x+)

~&B

(x+3y)? - 4% = (x +3y)> - (2y)* | B2
x+3y=A, 2y=BetoH
A2—B2 = (A+B)(A-B)

= (x+ 3y +2y)(x + 3y - 2y)

= (x+5y)(x+)




3.

X +y2-4-2xy 9

@x—y—Q

@ x-y+4

A7t o Qe A2
@ x-y-4 ® x+y-2
® x+y+2
P4y -d-2xy = (x-y)?>-2°

=(x-y+2)(x-y-2)




4.  xPy+yz-y—x?z 9 A5 & Astoiet

2y +y27— 33 — 2%

= (¥ - x%2) + (*z-»°)

=@y -2) -y (-2

= (y-2)(x* -»?)

= -2)(x-y)(x+y)

o2t (y—z) + (x—y) + (x+y) = 2x +y -z [




5. (x-y)?-8x+8y+16= AN (ax + by + ¢)?°|t}. o] =,
a+b+c 27 (& ave )

O -16 (@)—4 ® 2 @ 8 ® 12

B ~
(x—y)2 - 8(x—y) + 1614
x—y=AZE 2|2s}H
-8A+16=(A-4)2=(x-y—4)
ca=1,b=-1,c=-4
L a+b+c=-4




> (m+n)2_2(rﬂ+n)m_8m2% E]'ﬁo]'@, = 7H94 Zom q_E]_
A5 T2
Do @ —on

m+n=X=2 23s5tH

Lt = (0 e+ )
= (m+n—4m)(m+n+ 2m)
= (n—3m)(3m+ n)
. (n—3m)+

(B3m+n)=2n




7.  x*+5x%? + 9yt = Q) stoiat,
=

>
D EHE D (P + x4 3y?) (2 —xy+ 3y?)

B

x4 + 5x2y2 +9y4
= x* + 6x%y? + 9y — x%?
2
= (22 +3y?)" - (x)”
= (¥® + xy + 3y?) (x — xy + 3y?)




8.

4x? - 24xy + 36y* - 16 = 7 AA Y Fog
a4 o] gh& Fstefzt,

> HE T 4x-12y

(=4 =4(= —6xy+9y)—16
=4(x-3y)*-16
= (2x—6y+4) (2x—6y—4)

(2x—6y+4)+ (2x—6y—4) = 4x— 12y




